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Note: the edge (c,d) has negative weight. Run Dijkstra’s and observe if this has an e
the correctness of the output
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d you represent this social network in a e
operties? What factors of the “social network” impact your
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(b) Given two people, how would you determine if they have any mutual friends?

Sonce Y\\ cirr\(:\\r\ S U\, 69625 ar s
g\[mlwv\(rp N ‘o =ce R P

ot N Corvnes \O@P\L TN W “)3““’"@7
\\6} {Y\&\«tx '

(c) How would you find the person with the most friends?
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(c) How might the Union-find ADT be helpful for finding cycles in a graph?
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